ViTew g e

S fedip:
(2x + 6)(6x + 2)(2x + 2) (= 5x+ )(Bx— 1)— 5 x2x— 4
2x+ (6= 3x)(2x — 5)(4x — 4) (4x* — 4)(6x— 1) + % +6x + 5
(5x + 1)(4x — 6)(3x — 5) (4x + 6)(x® + 3x + 4) — (5x + 1)(2x + 6)
(637 + 2x + 6)(dx — 4)+ 5 x 3x— 1 (2% + 4)(dx+ 1) + 6% +5x — 1
(4x® — 3)dx—4) — 3% —6x + 6 (5x — 4)(2x — 4)(2x + 1)
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- IFGIGE THR:
(2x + 6)(6x + 2)(2x + 2) o —5x+1)Bx—1)—5x2x— 4
24x> + 104x” + 104x + 24 3 — 16x2 —2x— 5
2x+ (6= 3x)(2x — 5)(4x — 4) (4 — 4 6x— 1)+ +6x+5
—24x> + 132x% — 226x + 120 24x> — 3% — 18x+ 9
(5x+ 1)(4x—6)(3x—5) (4x + 6)()(2 +3x+4)— (5x+ 1)(2x + 6)
60x> — 178x° + 112x + 30 A + 8% +2x + 18
(6x% + 2x + 6)(4x— 4) + 5 x 3x— 1 (2% + 4)(4x+ 1) + 672 +5x— 1
24x> — 16x* + 31x— 25 8x° + 8x% + 21x+ 3
(4% = 3)(4x—4) — 3% —6x +6 (5x— 4H)(2x—4)(2x + 1)
16x° — 19x% — 18x+ 18 20x° — 465 + 4x + 16
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